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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 445.41 � ±



 0.31

r = 0.296 � ±



 0.002

t1 = 4.244 
�

±



 0.005

t2 = 0.152 
�

±



 0.002

o ±�± r·Á�÷£ø ò �Óhji µ � ²

BLOW avgpulse.qdp
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 367.74 � ±



 0.30

r = 0.361 � ±



 0.003

t1 = 3.888 
�

±



 0.005

t2 = 0.116 
�

±



 0.001

o ± µ r·Á�÷£ø ò � hwikY�p ²

BLOW avgpulse.qdp
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 107.74 � ± 0.19

r = 0.385 ± 0.003

t1 = 5.666 
�

±
  0.017

t2 = 0.296 
�

±
  0.005

o ± Ycr·Á�÷£ø ò �Óhji F � ²

�
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�
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 421.09 � ± 0.63

r = 0.269 ± 0.005

t1 = 4.107 
�

± 0.010

t2 = 0.130 
�

± 0.004

o ± � r·Á�÷£ø ò �Óhji Y µ�²
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�
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 401.23 � ± 0.50

r = 0.714 ± 0.004

t1 = 3.639 
�

± 0.007

t2 = 0.116 
�

± 0.001

o ± Fcr·Á�÷£ø ò � hwikY�� ²

BLOW avgpulse.qdp
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 277.28 � ±



 0.44

r = 1.001 � ±



 0.006

t1 = 3.443 
�

±



 0.008

t2 = 0.107 
�

±



 0.001

o ± pcr·Á�÷£ø ò �Óhji F � ²

BLOW avgpulse.qdp
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 152.42 � ±



 0.16

r = 0.922 � ±



 0.003

t1 = 4.594 
�

±



 0.008

t2 = 0.167 
�

±



 0.001

o ± ��r·Á�÷£ø ò � hwi p µ�²

�
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 355.18 � ± 1.36

r = 0.304 ± 0.019

t1 = 3.073 
�

± 0.018

t2 = 0.050 
�

± 0.004

o ± �cr·Á�÷£ø ò �Óhji F � ²
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�
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y = a * { exp(-x/t1) - r*exp(-x/t2) }�

a = 301.27 � ± 1.15

r = 0.406 ± 0.020

t1 = 2.773 
�

± 0.016

t2 = 0.041 
�

± 0.003

o ± ^cr·Á�÷£ø ò � hwi � ²�²

^


